Math 49B Code:
Quiz 5 I forgot my code, so please charge me
Thu Feb 14,2008 v two points: (Name)

[THIS IS A NO CALCULATOR QUIZ

[2 POINTS] How many loops/petals do the following rose-shaped curves have ?

i
(a) r=sin76 @
(b) r =cos 660 @ '

[11 POINTS]  Test the following graphs for symmetry. SHOW YOUR WORK.

(a) r = cos @ +sin @ ; symmetry over the polar axis ——hﬁ-\;jé,.
eds ein &) oy @-o) rsiml-0 L ot

= C_aﬁ; ~ S 9\]2'@ I~

—r Forx ((‘ = CoSs C}I-— O)-&—gwml

-6 eon O ~r'—’=ﬂc,o5@* "‘“‘@ ' 2

v
(b) r* =c0826 ; symmetry over 6 = = et

(c) r = sec @ ; symmetry through the pole
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[QUESTIONS ON OTHER SIDE|



[4 POINTS] For what value(s) of & does the graph of ¥ =1+ 20826 pass through the pole ?
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[4 POINTS] The following table gives the approximate values of » for various values of & for the graph r = 2sinf — 3.

T
In addition, the graph is symmetric over 8 = 5 . Sketch the entire graph.
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